%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The diagonal of a square is 8V2. The diagonal of another square whose area is
double that of the first one is?

U 1 BT [AH 0l 8V2 © 1 T 3= a7l & fAH Ul JTd Do o1 &Fma
fad e vl & &A% A aHT 872

NTPC CBT 2

842 cm
1672 cm

16 cm

18 cm



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Height of different students (in cms) is 102, 104, 87, 97, 109, 117, 118, 99, 101,
103, 107. Find the Mean of height of all the students.

[ =1 & $drs (IH H) 102, 104, 87, 97, 109, 117, 118, 99, 101, 103, 107
o | 9 Sl & Sa1s &1 A1e J1d DI

NTPC CBT 2

102.5

103

104

118



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the variance of the given numbers: 36, 28, 45, and 51.

21 115 =13l H U9l J1d PIfIT: 36, 28, 45, 3{X 51

NTPC CBT 2

63.5

68.5

1.5

6.5



méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A was told by his mother to divide Rs 10864 among all three siblings A, B and C
in such a way that 1/3 of A, 1/5 of B and 1/6 of C is equal. Find the share of B.

A DI 3D A A diFl Telell A, B 3R C & did 10864 ¥UU 39 g I dicd &
[TT BT 4T fh A BT 1/3, B BT 1/5 3R C BT 1/6 SRR o | B B (0T J1d IO |

NTPC CBT 2

Rs 3880
Rs 4000

Rs 4500

Rs 4600



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

120 diex & 0] § [RTE 3R YTt ol 3-Uld 2 : 1 ¢ dfd IR 3{IR U]
BT U 2 : 3 ST ™7, di UTST 9T {831 R AT & {0901 § Ul ol 9Er
(Siiex H) AlvE B

The ratio of alcohol to water in a mixture of 120 liters is 2 : 1. If this ratio
of alcohol to water is made 2 : 3, by adding some water then the quantity
of water (in liters) present in the newly made mixture is

NTPC CBT 2
60

80

120

140



méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A metallic sphere of radius 21 cm is melted and converted into a cylinder
of diameter 28 cm. Find the total surface area of cylinder.

21 JHI I TSI BT U €1d DT Al TUgarr Sirdl o 3R 28 JHT AT &
a9 H dadl Sidl o | dd- b1 b N &A% d 3d DIy |

NTPC CBT 2

6421 cm?

6776 cm?

6256 cm?

5024 cm?



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Three persons are walking from A to B. Their speeds are in the ratio of
4 : 5 : 3. The time ratio to reach B will be

Eﬂ?{fﬂ%{ﬂxéadmﬂﬂw% SAPITT 4:5:3F AUTH gl BdAD
qga- &1 JHY 3JTd T HTI?

NTPC CBT 2

4:5:3
15:20:12

15:12: 20

3:5:4



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

gfe Tand = 5/12, Al (Cose - Sind )/(Cose + Sind) T HIH JTd BHIfou|
If TanB = 5/12 then, find the value of (Cos6 - SinB )/(CosB + Sind).

NTPC CBT 2

12/13
5/13

77

17/25



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A shopkeeper gives two successive discounts of 10% and 20% to the
customer and the selling price of article is Rs. 7200. Find the marked
price of the article.

U GHHGR UTGDH DI 10% 3R 20% Pl Gl HiHD P odl & 3R aXd P
[dhd Y 7200 Y ¢ | dl 9% D1 3ifdd Hed F1d HifSU|

NTPC CBT 2
Rs. 6000

Rs. 12000

Rs. 8000

Rs. 10000



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If x +y =7 and xy = 10 then find the value of x* + y*.

i x +y =7 3R xy = 10 g a9 x* + y* BT AH J1d DHIOT

NTPC CBT 2

641
642

520

630



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If the simple interest for 2 years is Rs. 1000 at 20% rate of interest. Find
the compound interest for the same time.

gfe 2 99 & {oIT TR TS 20% P 4TSl &2 U 1000 39 g | df 391
JHTE 1T & AU gehdla =TS J1d HIfSIU]

NTPC CBT 2

Rs. 500
Rs. 600

Rs. 1200

Rs.1100



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If sin(3X)° = cos(2x+ 45)°, then what Is the value of x?

Ofa sin(3x)° = cos(2x+ 45)° ©, dl x &1 HIH T 872

NTPC CBT 2

4°

?D

9[2'

10°



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If SINA = 3/5 and CosB = 5/13, then find the value of Cot(A + B).

NTPC CBT 2

16/36
16/53
-16/63

16/63




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A 1200 m long train crossed a man who is running against the direction of the
train with a speed of 50 m/s in 6 seconds. If a platform whose length is half of
the train's length, then find out the time in which train will cross the platform.

Udh 1200 HicI ddl ¢ 50 HicI/Adh s Dl 9rd I f9uid fa=2n | 9d- d91d Uh
Afad HI 6 Ybhs H UR Hdl gl AlG UP WehH [Sadh! ddrs o of ddls d
3Tt ©, dr A1d PIford Ih 24 fha 999 § WiewhH &l R B2

NTPC CBT 2

10 seconds

12 seconds

9 seconds

6 seconds



méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A person sells an article at 16% below the Cost price. Had he sold it for Rs.33
more, he would have gained 14%. To gain 25% he should sell the article for ?

Uh Al pd Hed I 16% 1Id U a3 &l d9dl g | e 39 9 33 3UY 3HiUh
UR &1 BIdT, Al 3 14% BT 1Y BT 25% 1H U B & [d¢ 3 a3 &l fh 3
O IR d9-1 91igUu?

NTPC CBT 2

137.5

123.4

113.1

141.2



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

Find the principal for which the difference of compound and simple interest at
15% for 2 years is Rs.2.70

98 HAY J1d 1Y o9 el 2 IV & T 15% WR Iehdla 3R JTERUN TS
P 3R 2.70 UL G |

NTPC CBT 2

120

123

132

111



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A can write an article in 10 days while B can write the same article in 15 days.
They start to write the article together but 5 days before the completion of the

article, B leaves. In how many days will the article be finished??
A TP g 10 &1 H forg gabdr g, Sl B I o Bl 15 el H forg Obdr gl 4
Uh 1Y < [TRa1 = $HRd ©, dlib-] od GRI G- 9 5 ¢4 Ugd B ®IS ¢dl g |
o fpdd feai | ?
el | gRrer NTPC CBT 2

9 days

6 days

8 days

10 days



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the value of 110% of 300 + (132 —12%) =5 + 17.

300 BT 110% + (132 — 122) =+ 5 + 17 B[ HHE J1d DU

NTPC CBT 2

335
352

355

350



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The price of an article is decreased by 5% in the first year, increased by 10% in
the second year and again decreased by 20% in the third year. If the difference

between the price of the article in the first year and that in the third year is
Rs.20520. What was the initial price of the article ?

ggd aY H U 9% & Hed H 5% Pl HHI 5 o, a4 daY H 10% Pl dl< g3 © 3R

A 9y T fth I 20% &1 Sl g5 ol dfc ggd 9y SR diR 9y H ad & G I
s BT 3{dR 20520 U g | 9 DI URIHD Hed T UT?

NTPC CBT 2

180000

123500

321000

250000



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If the interior angle of a polygon is 140°, find the number of sides of the
polygon.

qfc U dgHSl DI 3{IdRD DIV 140° B, dl dgHSl DI YSIT{l I WA J1d DI |

NTPC CBT 2

10




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A person invested two equal sums at 10% simple interest p.a. for 8 years and
10 years respectively. If the difference in interest earned is Rs. 200. Find the

total sum invested by him in the schemes.

Uh A -1 10% ATYRU] TS U hHRT: 8 I8 3R 10 aY & [T &l JHI AT D1
fa=r foearn afe siivid st § 3idR 200 2 81 3¥d gRT Ao § fHafRrd i

I1d DIy NTPC CBT 2

Rs. 1000

Rs. 1200

Rs. 1600

Rs. 2000



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

An amount of money at compound interest grows up to Rs. 2420 in 2 years
and up to Rs. 2662 in 3 years. Find the rate of interest per annum.

Uh ¢ AT Iohdla 16 &R TR 2 9 H 2420 YT 3R 3 94 T 2662 3YU (D §¢
STl g1 91 =191 B &R JId HIfoTu|

NTPC CBT 2

20%06

D%

12%%0

10%0



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The square root of 7 + 2V10 is
7 + 2710 T 97 ©:

NTPC CBT 2

(V6 + 1)
(N3 + 2)

(V2 + 5)

(2 + \5)



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The LCM of 15x3 y* and 12x4y° is:

15x3 y* 3R 12x2y° BT qYTH JHYTY B:

NTPC CBT 2

25x3 y°
15x° y°

12x3 y3

60x° y°



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the sum of all natural numbers between 1 and 100 which are multiples of

37 = = ) . . = Y ™ e
1 3R 100 & &g T Urdd TRAT3] T JRTHd JTd Diford S 3 & 0TS g |

NTPC CBT 2

1683

1600

1540

815



méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Ratio of Cost price to selling price of a book is 5 : 6 and ratio of selling price to
marked price is 4 : 5. Marked price of the book is by what percent more than
that of cost price of the book™?

Uh G&ih & v Hed P [dehd Hed I U 5 : 6 © 3R [dhyg Hed b1 3ifdd
T Y 34Td 4 : 5 8| Y& &I 3ifdd Hed YIdd & g Jed I fba- ufd=ra
3D § 2

NTPC CBT 2

30%

50%

60%

40%



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

x b TUT I T 3HTLI?

What comes in the place of x?

(216)"3 x (36)"8 = (6)0-5 = 6X
NTPC CBT 2




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

To do a certain work, the ratio of efficiency of P, Qand Ris 6 : 5 : 4. Working
together, they can complete the work in 20 days. They work together for 10
days. 50% of the remaining work will be completed by Q alone in:

U FIYd B P S AT, P, Q IR R DI G&AT BT U6 :5: 4 5| U A1y
HTH DB WR, d 20 f&-1 T 580 ST DI G B Adhd g | 9 10 Gl db U A1y
®d o | VY DRI BT 50% Q gRI 3fbed fba- fai & G fbar sren?

NTPC CBT 2

12 days

22 days

15 days

20 days



/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /







MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

In a survey, it was found that in a constituency, 55% of voters are male and
the rest are female. 40% of the male voters are literate and 33%% of the

female voters are illiterate. What percentage of the voters are literate?
Udh Fd&ul |, Ig Uidr 11 fob U [Haia & H, 55% Hdaldl 4oy § 3R Y
ASEIY &1 40% JoW HAGIT A1&R © 3R 331 % Afgar Aderdr FRer €1 fdbdq
OICT=Id Adardl A&k 82

54%

52%

37%

48%



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A solution contains acid and water in the ratio of 4 : 5. If 20% of the solution is

replaced by water, then what will be the ratio of acid and water in the new
solution?

U [dag-T H 313 3R Ul dT 3Uld 4 : 5 5| Jf °Id & 20% PI gl 4
IARATIUd HR {341 ST, df 9T °ld T 33T 3R G-l T 3{q1d =T g2

10: 7

16 : 29



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The marked price of an article is Rs 1,000 After two successive discounts, it is
sold for Rs 600, If the first discount is X% and the second discount is 25%,

then what is the value of x?
U 9 DI Sifdbd Ted 1,000 3T B, &l HHNTI B¢l & dlg, 53 600 3UY H &
STl &, Afe Ugdl 8¢ X% o AR QORI ¥¢ 25% @, dl x BT 1 F1 g2

12%

25%

185

20%




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

9616 of 2—128%x2-32+150f 4 .
The value of ) 1S :

3 21 1 1 1
_ﬂ —_— ] = — e — =
il fﬁ(i‘l 4 il




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If a number is divisible by 624, the remainder will be 53, If the same number is
divisible by 16, then the remainder will be:

i Pis W 624 I [AUST €, O ANHA 53 I, IS T61 T2T 16 F AU B,




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The average age of 125 students in a group is 16.2 years. 40% of the students
are boys and the rest are girls. The average age of the boys is 20% more than
the average age of the girls. What is the average age (in years) of the boys?

Uh THg H 125 B Bl A 3G 16.2 T4 51 40% B dod o IR 3 AS[H
Sl dodl Bl A 3 dsibdl B A 3T A 20% HUPH g1 ASHI DI 3
Y (a1 H) HIT 572

17

18.5

18

17.5



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A wire is bent to form a square of area 169 cm?.If the same wire is bent to form
a circle, then what is its area (in cm?, to the nearest whole number)?

Take [ = 2]

U dR 169 THI2 &AHA &l 91 g4 & [T ST g3 g | Afc I3 dR Pl U g1
§-TH & o1 HIST Sirdl g, dl S9P1 &ahd (U2 H, (Mdhedd Jul I H) o1 g2

532

531

215

227



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A solid metallic cube of side 20cm is melted and recast into a cuboid of length

40 cm and breadth 40 cm. What is the length (in cm) of the body diagonal of
the cuboid?

20 THT YOI dIct Uh 3199 €T b °- Pl [Ugaidhr 40 JH! ddlg 3R 40 IH! dlsTg
el 991H H STl SIdl 5, 9914 & 9P Ul B ddls (JHT H) FT 872

54/129
129+/5
154/43
43+/15




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A sum becomes Rs. 2320 in 4 years and Rs. 2552 in 5 years, when the interest
rate is compounded annually. Find the rate of interest.

Udh ¢RI 4 98 H 2320 FUT 3R 5 a8 H 2552 3UU gl Sl o, old ST Pl a3
gt =0 I GIford &t SIidl g | s4191 i X J1d Do |

20%

10%

25%

30%



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A moneylender lends a sum of Rs 8000 to the borrower at 30% per annum on
compound interest for 1 year, then what will be the interest after 1 year if
interest is compounded half-yearly?

U AEHR 1 Y & AU Iebdia ST UR Ufd a8 30% Dl & I IURDdl Bl 8000
U DI MR IUR <dl &, dl 1 9N D &1G TS R BRI, gl TS et =9 9
GAIfoTd o1 SIrdn g2

Rs. 2400

Rs. 2580

Rs. 1200

Rs. 3000



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The radius of a circular wheel is 7 m. Find the number of revolutions; it will
make in travelling 88 km.

Uh JAIPR Uled B A1 7 Hiex © | Iab I AT J1d Diforg; Sit 88 fabedl ot
AT 79 DI H &7 |

1500

2000

2500

2200



méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of
the field is 20 m less than the length, then the perimeter of the field in m is

U HAAIPR Ad | dISTg 3R Gl DI AU 4 : 551 dic HaH &l sl
3P Gdls o 20 HieX ®H g, dl Id DI gRie diex | J1d Pifo?

240

300

360

540



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A four digit number, repeating its two digit for example xyxy always divisible by:

U dR 3BT WAL, Sl 3 &l 3| Bl aledl & 3aleUl & (AU xyxy dl dg

gHI I faUTa gidl g

13

23

11

101



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The profit earned by selling a charger for Rs. 536 is equal to the loss incurred
when the same article is sold for Rs. 384. What should be the selling price for

making a 50% profit?
536 U H Up dToR Dl adPp JHfold 1Y, UK gl & &RI6R ¢ ol dol d%] 384
B0 H &1 ST © | 50% 1Y DA o o8 fdchy Ted a1 g1 d1igu?

Rs. 670

Rs. 690

Rs. 600

Rs. 500



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

qgcit 97 UTdh i JAT3 B S JTd PHIfou?

Find the average of the first 97 natural numbers.




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

9 + 5y
If Xy =7:3then the value of will be
3T + 2y
92 + 5 _
gidx:y=7:3dl Y rHM SR
3T + 2y

r8/29

26/9

/3

5/2



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the value of x

x T HIH J1d Diford )
292 - 252 =63 + x




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The speed of a policeman and a thief are 12 kmph and 9 kmph respectively.
The policeman starts chasing 6 minutes late. He will catch the thief in

U YferadH! 3R Udh IR &1 1fd A 12 fhdT 3R 9 fHdt ufa der &1 gferaamd!
6 [Tc & I UIST HIAT Y HRAT ¢ | 98 IR Dl fhd- I H b g Ti?

18 min

19 min

17 min

15 min



méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Two individuals X and Y can assemble a machine in 12 days. If Y alone can
assemble it in 48 days; then, X can assemble it single-handedly in:

al fad X SR Y 12 f&=i d b A=iiH ol a-1 dbd o | fd Y 3ol 39 48 fa=i o
S Tbdl o: dl, X 39 3fdbd 94T Ubdl o

40 days

24 days

16 days

20 days



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

Some part of Rs 18500 was lent at the rate of 24% per annum simple interest and the

remaining part at the rate of 10% per annum simple interest. The total interest received
after 5 years is Rs 500 less than the investment. What is the ratio of money lent at the
rate of 24% and 10%7

18500 ¥UY &1 & a8l 24% Wid I8 HIYRUI AT R HR U HFT 10% Uid I8 HIYRO]
TS I &R IR YR &A1 747 | 5 99 & 916 UK $d 1 9% 4 500 394 HH & | 24%
HR 10% Pl ¥ UR FYR fGT U ¢ BT 3T HT 87

A. 2:25
B. 3:25
C. 53:12
D. >:18




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A can complete a work in 12 days working 8 hours a day. B can complete the same
work in 8 days working 10 hours a day. If both A and B work together, working 8 hours a
day, in how many days they can complete the work?

AT o 8 ¢ &HTH HId gU 12 &1 H Uch S1H RT H IHdl g1 B &I H 10 6 H1H HI 8
=T o 34t B9 B GRT B Thdl 8| TG A 3R B SIFl Udh 1Y H1H Hd 8, di a1 H 8 1
HTH HXb, 9 fdd- &1 H HH R H Ihd 82

A.

B.
C.
D




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A man invests an amount of Rs. 15860 in the names of his three sons Aman, Aakash
and Aryan in such a way that they get the same interest after 2, 3 and 4 years

respectively. If the rate of simple interest is 5% . The ratio of amount invested among
Aman, Aakash and Aryan will be-

U ATSHI 15860 3=, 3T dIF dci 3, TR 2R 3T & A1 U 59 g o{l Hdl &
fh 2. 3 3[X 4 94 FI€ HHI: I¢ A I UTd & | Ifc IR =979 &1 X 5% &l dl
A, ATHT AR A &b A H O] {6 T & &1 391d -

. 15:20
4:3
1115 : 120

o
) 115 120

OO W >




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

R is 60% more efficient than S. If S alone can make a book in 72 days, then R alone
can make the book in how many days?

R, S &I ol H 60% H{¥® HR &1 gfe S 3Hbd 72 &A1 H§ U Yadsh a1 Thdl g, df R
3Hehdl fhad a1 H Oxie a1 9dhdl 87

(O] [ S R ) B



/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




